

חברו את המספרים המכוונים בהתאם לסימן, לפי הדוגמה

$(+2)+(+3)=5$	$(-2) + (-3) = (-5)$
$3+4=$	$(-3)+(-4)=$
$(-9)+(-4)=$	$4+9=$
$(-9)+(-2)=$	$1+2+3=$
$0.5+0.3=$	$(-1)+(-2)+(-3)=$
$\frac{1}{2} + \frac{1}{4} =$	$(-0.3)+(-0.5)=$
$0.99 + 0.1=$	$\left(-\frac{1}{4}\right) + \left(-\frac{1}{2}\right) =$
$(-0.2)+(-1.3)=$	$(-1.99)+(-0.01)=$
$1\frac{1}{3} + \frac{1}{3} =$	$\left(-\frac{2}{3}\right) + \left(-1\frac{1}{3}\right) =$
$2.5+3.25=$	$0+(-4)=$
$(-2.5)+(-3.5)+(-0.5)=$	$(-3.25)+(-2.5)=$
$(+0)+(-0) =$	$\left(-3\frac{3}{4}\right) + \left(-2\frac{1}{2}\right) =$
$0.1+0.02+0.003=$	$(-100)+(-20)+(-3)=$